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53. Astronaut Astrid visited 6 new planets.
She spent $33 on each planet, buying souvenirs.
How much money did she spend altogether?

Astrid spent $ altogether.
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54. Linda Lou has played Stickyball twice.
Each time she scored exactly 418 points.
How many points did she score playing
Stickyball in total?
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Linda Lou scored points in total.
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55. 55 students showed up in Professor
Poindexter’s math class ready for the fg
math test. Each student had 4 pencils @%\
and 2 calculators. How many pencils c
did they have in all?

They had pencils in all.
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56. Jasmine invited 282 guests to her birthday party.
She gave each guest 3 glow-in-the-dark lollipops and
4 noise-makers. How many lollipops did she give out in all?

She gave out lollipops in all.

.- S C H O L A S T I C Problem Solved: Bar Model Math (Grade 3) © Scholastic Inc.





